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debasish chakraborty 3 hours ago

I Nabanita De 3 hours ago
Honework : @

(E) BLACK (F) SILVER (K) GREEN H.W-E(black),F(Silver),K(Green),B(Red),A(pink),D(Blue),0(White) M(Yellow),Q(Brown).Thank u ma'am

(B) RED (A) PINK (D) BLUE & CB  REPLY
(0) WHITE (M) YELLOW (Q) BROWN ..

Read more shubhangi mishra 2 hours ago
5 GP  REPLY Today's homework ans.
E black , F silver K green B red, A pink, D blue ,0 white, M yellow ,Q Brown

. - Thank you ma'am
Rajnandini Pal 42 minutes ago y

Homework Answer b GH REPLY

E( Blue) F ( silver) K ( green) B (red) A ( pink ) D ( Blue) O ( white) M( yellow) Q ( Brown).
Thank you so much ma'am Jy

oy GF REPLY

Rahul Bhakat 2 hours ago

Clockwise-
Total 9 people

E(Black), F(silver), K(green), B(red), A(pink), D(blue), O(white), M(yellow), Q(brown)..
Read more

h GF REPLY
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Less than 10 people are sitting around a circular table and facing the

centre. They like different colors. Two persons are sitting between E and O.

F likes Silver and sits immediate left of E. One person sits between F and Q.

Q is not neighbor of O. B likes Red and sits 2"d to the left of F. The one who

likes Pink is 2Md to the right of the one who likes White. The one who likes

White is neighbor of M. K likes Green and is neighbor of B. D is 3" to the

left of K. The one who likes Black is 2"d to the left of M. O doesn’t like

Black. A is neighbor of the one who likes Blue. The one who likes Brown is _
immediate left of the one who likes Yellow. Eé'":‘tg" =
10 § HH 19T T JATHR AT F ARI AR g Y AN 377 1T 38 81 358 IHeT9T-37el97 T

awig §1 £ 3R 0 & dra &Y safFa 45 &1 F Y 7idt wwie & A a5 £ F S v dor ¥ v cafEa
F3it QF frad 3171 Q, 0 FT IS AFT § 1 B 1 AT To1 THg § 3 T8 F & 910 & gA ¥
9T 43T &1 TE ST 9HE HICAT & e, The T THE Ha Tl 3fFd & g F g8 T W
he 9T THE el araT ATaFd M FTISIRAT &1 K R g T qoG ¢ R agB FT IS &1 D, K&
a3 / AR TUTT 9T § | FHTT T GHE FIA 1T ST M & 9TC | gAY FUTT 9T g1 O FY el
T THE Bl o1 A, FTelT T THG FA aTel T TSHAT o | I§ ST To14 370 T TG &, el T
qHE el AT & S 910 ST 2|
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Less than 10 people are sitting around a
circular table and facing the centre. They
like different colors. Two persons are
sitting between E and O. F likes Silver and
sits immediate left of E. One person sits
between F and Q. Q is not neighbor of O. B
likes Red and sits 2"d to the left of F. The
one who likes Pink is 2Md to the right of
the one who likes White. The one who
likes White is neighbor of M. K likes Green
and is neighbor of B. D is 3" to the left of
K. The one who likes Black is 2" to the
left of M. O doesn’t like Black. A is
neighbor of the one who likes Blue. The
one who likes Brown is immediate left of
the one who likes Yellow.
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How many people are sitting around the circle?

qq & 9RI 3 frasr afFa 45 87

K(Green) B(red)

(Black) E

1.8
2.7
(Brown) Q ue 39
4.6
5.5

(Yellow]M 0
(White)

Who among the following likes White color?

ﬁmﬁﬁa##mmmm%’?
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Which of the following combination is correct?

famfaf@a & ¥ Sl a1 g |dr 82

K(Green) B(red)

F(silve

1.E-Black
i 2.A-White
(Brown) Q 3.D-Yellow
(Yellow)"! B 4 .M-Blue
5.0-Brown

Who among the following is 3" to the right of the one who likes
Silver?

frfaf@a & ¥ sl 9 gag A g FfFad F qF @
dEY T 9w g7

1.Q

0 S W N
OZIO>»
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Eight persons A, B, C, D, E, F, G and H have their birthdays on different months of the year viz.
January, April, May and July, such that not more than two persons have their birthdays in the
same months. All the birthdays are either on 14th or 23rd of the month. No two persons have their
birthdays on the same day of the same month. The following information is also known about
them. F does not have birthday in May. E wasn’t born in July. H's birthday is immediately after B’s.
E celebrates his birthday before B.

The number of persons who have their birthdays between the birthdays of G and H is equal to the
number of persons who have their birthdays between the birthdays of B and D. D was born in July.
Birthdays of both E and B are in the same month. There are three birthdays between the birthdays
of F and C. G celebrates his birthday before B.

TS SATFTA, B, C, D, E, F, G 3 H FT ST=HTET T & 3TAT-3e19T AZIAT H adT g1 STeTady, 3rder, 7S 3R
TS, 3R U @ 7O A 2 @ 3170w IiRaa) & AR A8 Y ) o SR At A @Y 14
AT 23 TG P A §1 TF O AN F v & R &) AT At 1 A=A AT QT ¥ IAF I A oA
ST 81 FAT §1 F T ST T 7§ H AL | E FT ST el A g1 3T AT| H HT T e B & S a1
¥ £ AT STATRT B ¥ U5 AATATE1 G 31X H F TR & a1 [oret cqFaat FT STeAfea &, 3
&A1 B 3R D F FeAfeaT & dier STeHAfRe AeAre arel safEFadl 1 HE&AT F aWa< ¢ D FT oA TS A
gmmwaﬁuaﬁ#wa*nﬁwwﬁnﬁﬁﬁ%lmﬁtc F SAeATEAL T T STeATT & G 39=T
STeHfesT B ¥ U8 AATAT &
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Eight persons A, B, C, D, E, F, G and H have their
birthdays on different months of the year viz.
January, April, May and July, such that not more
than two persons have their birthdays in the same
months. All the birthdays are either on 14th or
23rd of the month. No two persons have their
birthdays on the same day of the same month.
The following information is also known about
them. F does not have birthday in May. E wasn't
born in July. H’'s birthday is immediately after B’s.
E celebrates his birthday before B. The number of
persons who have their birthdays between the
birthdays of G and H is equal to the number of
persons who have their birthdays between the
birthdays of B and D. D was born in July. Birthdays
of both E and B are in the same month. There are
three birthdays between the birthdays of F and C.
G celebrates his birthday before B
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Who among the following were born in the same month?
farfaf@a & @ sl s & "7 & der gv 472
A AandD >
BBandC
CCandF
DDandG
E None of these

Month
January G
January _ F
Apri g
H
C

April

Y
Sy A
sy

X
2 3 rd
=

e
273 rd
-] L
3 rd
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Who was born on 2314 July?

23 JTS P fhudT S=7 g3m UI1?
AA >

BB

cCC

DD

E None of these

~Womth | Day | Peron
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Which of the following Birthday — Person combination is correct?
frafaf@a & @ #i9 a1 Feafea-caiFa g @ 87

A January 23" - G

B April 14" - E

C May 23" - H

D July 14" - C

E None of these

~Wonth | Day | Peron
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How many pairs of letters are there in the word “INVENTORY"” each of which has
as many letters between them in the word as in the English alphabetical series?

greg “INVENTORY” & 38R & 0 fhaar i &, O9d @ v+ & €9 3da
& 3R § oo & 319N aoiaren saer & §2

A.One
B.Two
C.Four
D.None
E.Three
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& ITFd & YA fFdal #H 48 & 31X
U qEI FTAAAT FI G &1 IFd1 A: A, B, C,
D 31X E Ef&or &Y 3T AT v do &1 afFa 2
#:p,qQ,R, s IRNTIS TR A3
3eHE ¢
CATATABR W IATTRA SR TSI C
IRTHFRNTR aRaFdasaacs
sgfFa 43181 D, E & ST @ GUY FUTT G 4T
g IR ITA T RS M Afaa R Wagidor |
B3R QUuF gy & Rudia a3 §1 q 3ilws
APecdd TSI §. R3T ATFT & TS

R dsrg ST D F AF s doT 8l

Ten persons are sitting in two parallel

rows and facing each other. Inrow1: A, B,
C, D, and E are sitting and facing south. In
row2: P,Q R, Sand T are sitting

and facing north.

C sits at either the right end or left
end. Only one person sits between C
and the one who sits oppositeto T. D
sits second to the right of E and none
of them sits at the extreme end. B
and Q are sitting opposite to each
other. Q and S are immediate

neighbours. R sits diagonally opposite
to the one who sits immediate right
of D.
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Ten persons are sitting in two parallel

rows and facing each other. Inrow1: A,
B, C, D, and E are sitting and facing
south. In row2: P,Q,R,Sand T are
sitting and facing north.

C sits at either the right end or left
end. Only one person sits between C
and the one who sits opposite to T.
D sits second to the right of E and
none of them sits at the extreme
end. B and Q are sitting opposite to
each other. Q and S are immediate
neighbours. R sits diagonally
opposite to the one who sits
immediate right of D.
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Who among the following person sits third to the left of the one who sits opposite
(o 1 ¥

a) The one who sits second to the right of Q

b) The one who sits immediate left of S

c) The one who sits third from the extreme right end
d) R

e) None of the above

fIFITATET 7 T PieT E & [Tad 8 ITFd & 910 @ G TUTeT GT ST &7
a) 98 fad AT Q F g ¥ THY TYHA W AT

b) Ig ATFTAS. FHF I ST

) e AFT M IfAATA R T AN YA R Io1?

d) 3T

e)mﬁﬁqﬂ?ﬂ'gf
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Who among the following person(s) sits left of D?

) The one who sits second to the left of B.
) E

)Xo

a) Only (II) and (III)
b) Only (I)

c) Only (I) and (III)

d) Only (II)

e) All (I), (II) and (III)
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If one of the immediate neighbours of T is S, then who is the second one?
a) The one who sits opposite C

b) Q

c) The one who sits immediate left of S
d)P

e) No one

I T F Acan EIRA A At s §, Ay guuala g?
a) Fg IFT AT CF AT dsary

b) T

c)gwﬁ-‘crsﬁs FdFa T

d)

e) S el
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Four among the following five are similar in such a way to form a group, who
among the following one doesn’t belong to the group?

ffaf@a o @ IR & ¥g 9« & fov A §, Aeef@a A @
Pl GHE ¥ ol a8 82

a) The one who sits second to the right of A

b) C

c) The one who sits oppositeto T

d) Q
e)R
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In a certain way, Q is related to D and S is related to A in the same way who
among the following person is related to C?

v ARTT alid &, Q, DU Wefd g 3R S, A ¥ Fefda &, 3 yHR
frafaf@a & ¥ Fia a1 safFa C  Fefa 872

a) The one who immediate left of Q
b)R

c)T

dP

e) None
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Study the following information carefully and answer the below questions.

Each letter of the word is written under column-I has been coded as a digit and given under
column-II

qeg F Ycdd &R I HiaA-I & ded fOGET T § 3R tF 3% & T & FET Far = g 31k Fraa-
II1 & & fear = @

What is the code for the letters ‘F C’ in the given
code language?
93956 a)67
BETTER 156465 b) 52
SETTER 156955 |[equeie
d) Either b or c
e) Can’t be determined
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ﬁdy the following information carefully and answer the below questions.
Each letter of the word is written under column-I has been coded as a digit and given
under column-II

UASE F YAF H&R FI FiaA-1 & dgd @@ 77 § 3R vF 3% § ™ & Ffza &y = § 3k Fra#-
II ¥ agd fear aram §

AFFECT /35276

ASSET 93956
What does “6” represent in the given code language?

T
E

2)) A

d)B A SN L G

e) Either (a) or (b)
I O GO
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tudy the following information carefully and answer the below questions.
Each letter of the word is written under column-I has been coded as a digit and given
under column-II

g & TAF HEW H FiadH-I & dgd for@T AT g 3T TF 3+ & ™ & fifed f&ar 13w T 3 FraA-
II1 & dgd fear o §

AFFECT /35276

ASSET 93956
BETTER 156465

If “R F” represents a code “4 7” then what does “1 9 2" represent in a code language?
a)SBT
b)CBA
c)BSC
d)SEC
e) None of the above
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If all the letters of the word CINEMATIC are arranged in alphabetical order from
right to left, then which of the following is the 3™ letter to the left of 2" vowel

from the right end? ‘ y y ‘
gfg rsg CINEMATIC & 9T 3780 &Y S0 ¥ 910 quildshd A cgaieyd fhar

s §, & PrAfaf@d & ¥ ad ok ¥ gy T & a¢ ¥ hew aof F @ ¥
A.M
B.N
C.1
D.E

E.C
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If in the number 271935468, the digits at the odd position are increased by 1 and

the digits at the even position are decreased by 2, then how many digits thus
formed are greater than six?

afg w&AT # 271935468, fAwer Pufa & 3t & ¢ § gefor & Jrelt § 3HRX &
Rufa & 3 & 2 § FAT i FAC §, d 59 TR 9 [Fdel 37F S § I3 gHI?
A.2

B.3

c.4

D.1

E.More than four
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Eight persons viz.P,Q,R, S, T, U,Vand W
are living in an eight storey building, but not
necessarily in the same order. The
lowermost floor is numbered 1 and the floor
immediately above is numbered 2 and so on.
Not more than one person lives on the same
floor.

Q lives on an odd numbered floor below the
sixth floor but not on the bottommost floor.
Only two persons live between Q and P, who
lives above Q. The number of floors between
Q and P is one more than the number of
floors between Q and S who doesn’t live
adjacent to P. There is only one person living
between P and T who lives immediately
below V. Not more than two persons live

between U and R who lives immediately
below W.

=755 " CLERK 2022 / /@ at 11:30 AM/ “

TS IATFT AT P, Q, R, S, T, U, VIHITW TH
HTS ATAT AR A T@d &, AfheT TR AST
o 53t 7o & &1 | oA el A i e
12 3IRSFFRA AT A FEar2 g 3ix
5! e 3ma ofY | vk Y AT W o A Hfw
cqfed g1 W 6|

Q T AfSTT & o< v [wer gEam areht
AT W IgaT € Afre a9 Al AT W
AeI Ear gl Q3R P & Mo Faarafda
{Ad e, ATQHFRIEATel QIR PF =
AfSral HY T&IT Q 3 s F T AT Y
HEIT A UF HF & ST P & HTHeT A1 Tgdl
T Fad T AT F AT IEATE PR T, STV
& SF AT WA &1 U IR RF ALT S A A&+
IfFd AT WA &, ST W & Sh A Igar g
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Eight persons viz. P, Q, R, S, T, U, V and
W are living in an eight storey building,
but not necessarily in the same order.
The lowermost floor is numbered 1 and
the floor immediately above is numbered
2 and so on. Not more than one person
lives on the same floor.

Q lives on an odd numbered floor below
the sixth floor but not on the
bottommost floor. Only two persons live
between Q and P, who lives above Q. The
number of floors between Q and P is one
more than the number of floors between
Q and S who doesn’t live adjacent to P.
There is only one person living between
P and T who lives immediately below V.
Not more than two persons live between
U and R who lives immediately below W.
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